Falcon Primary School

www.falconps.wa.edu.au

STUDENT PERSONAL ITEMS 2025- Information for Parents

<u>Campion Education</u> is the preferred supplier as selected by the School Board via a tender process of student items for 2025. It should be noted that parents are under no obligation to order from Campion and may choose an alternative supplier if they wish.

However, your support in purchasing student personal items through *Campion Education* would be greatly appreciated, as Falcon Primary School receives a rebate of 20% on all stationery items. Workbooks are listed at a negotiated lower price if purchased through Campion. Parents are also assured of receiving quality products at competitive prices.

YOU COULD ALSO WIN ONE OF EIGHT STORE VOUCHERS VALUED AT \$100 ... if you order through Campion Education.

ANTICIPATED ADDITIONAL COSTS FOR 2025

Attached to this letter is your child's item list and Anticipated Costs for 2025 to assist you with budgeting and planning your school related finances.

Parents should complete <u>one</u> order form for EACH child enrolled at the school.

- 1. Carefully read the instructions provided by Campion Education.
- 2. Remember to print your child's name, your contact number, email address and postal address clearly on <u>each order form</u>. You can then be contacted directly by the supplier if required.

ONLINE ORDERING & DELIVERY (NO FORMS/ORDERS OR CASH PAYMENTS TO THE SCHOOL PLEASE.)

ORDER ONLINE for home delivery

- Visit www.campion.com.au
- Click on Online order for parents and students.
- Create/login into your account / Select school and enter your 4-character resource list code (front page).
- Select your year group and the choose the items you want to purchase.
- Enter your delivery details and then complete the purchase.

FOR FREE HOME DELIVERY:

- Please order before 13 December to ensure your order is delivered before Term 1 commences.
- For free home delivery: You must order and pay online before 13 December 2024.

FOR HOME DELIVERY OF ORDERS AFTER 13 DECEMBER:

• Delivery fee \$8.00 per booklist order after 13 December 2024.

IN STORE BOOKLIST PURCHASE

Visit Campion Canningvale Service Centre, 25b Baile Road, Canningvale Monday-Friday. Please visit Campion's website <u>www.campion.com.au</u> for up-to-date information and trading hours.

NO FORMS/ORDERS OR CASH PAYMENTS TO THE SCHOOL PLEASE.

VOLUNTARY CONTRIBUTIONS

An opportunity to pay the voluntary contribution is included on each order form and collected on behalf of the school by *Campion.*

Alternatively, Voluntary Contributions can be paid directly through the school's ANZ Bank account. BSB 016 205 Account Number 408 401 369 (Please include students surname and initial).

Please contact Campion store on 08 6240 2778 (help@campion.com.au) should you have any further queries.

Jacquie Abbiss

Principal

ANTICIPATED ADDITIONAL COSTS TO PARENTS IN 2025

Information on the anticipated additional costs for the 2025 school year is provided to assist parents with budgeting and financial planning. These costs are endorsed by the School Board. Please contact the school on 9584 7100 for further clarification.

1. Voluntary Contributions

Voluntary School Contributions are \$60 per student which can be made in one lump sum or in part payments. Please discuss this option with the Manager Corporate Services.

The quality of our teaching and learning program will be maximised when each family contributes as this supports funding gained from other sources, including the State and Commonwealth governments.

Voluntary contributions are used to support all Learning Areas at Falcon Primary School:

- 1. Literacy
- 2. Numeracy
- 3. Visual Arts
- 4. Technologies

- 5. Performing Arts
- 6. Physical Education
- 7. Science
- 8. Environmental Science

You may pay your contributions through (Campion Education or directly into the school ANZ Bank account. (BSB 016205 Account Number 408 401 369 – Please put students surname and class as reference)

2. Additional Costs (costs will be no more than the figures estimated below and payable during 2025)

	Additional Costs (costs will be no more than the figures estimated below and payable during 2025)								
	К	Р	1	2	3	4	5	6	PEAC
Excursions (include bus) (\$)		40	40	40	40	40	40	60	CHARGES
Incursions	30	30	30	30	30	30	30	30	for Year 5 and 6
Year 6 Camp								500	students, if
Swimming lessons P-Y6		70	70	70	0	0	0	0	selected, will
Graduation shirt								42	be no more
Graduation Windcheater								48	than \$300 for the year.
Graduation Lunch (including bus)								40	ior the year.
Special Events - interschool, choir, sporting				20	20	20	90	90	(Cost depends on
Year 6 Graduates Book								No Charge	courses
B. Booklist Items								selected which range from \$10 to	
	К	Р	1	2	3	4	5	6	\$110
Estimated Personal Items excluding Voluntary Contributions	32.30	117.10	121.55	128.80	143.45	178.80	171.15	181.70	φιιο



Falcon Primary School





ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 13th December 2024 Using "3VWQ" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY

Your order will be delivered by the 28th January 2025 for FREE, if placed on or before the return date of Friday 13th December 2024.

Orders placed after the return date will incur a late fee of up to \$8.00. If ordering later please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to our website @ www.Campion.com.au for all up-to-date information and terms & conditions.



Your Campion Store 25B BAILE ROAD CANNING VALE WA 6155 Contact Us 08 6240 2778 help@campion.com.au

Please tick the items required in the box provided \downarrow

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	PRE PRIMARY					
	PERSONAL ITEMS FOR STUDENT USE					
P50129	Crayons 12's Twistable (WA Schools Only)	1		2	4.95	9.90
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	2		1	9.55	9.55
P50130	Glue Stick 40gm UHU	3		4	3.40	13.60
P50531	Handy Pouch A4 (345mm x 250mm) Black Zip	4		1	7.05	7.05
P56199	Pencil (6B) Noris Maxi	5		4	1.30	5.20
P56250	Pencils-Coloured 10's Noris Maxi	6		2	12.50	25.00
P53156	Razorline Velcro Dots Hook & Loop 22mm (75 Dots)	7		1	13.95	13.95
P54150	Scrapbook Mini 168x240mm 64 Page	8		2	1.95	3.90
P54030	Scrapbook 335x245mm 64 Page 90gsm Superhero	9		2	2.40	4.80
P52550	Story Book 328x240mm 80pg 2/3 Plain 1/3 24mm Ruled (WA ONLY)	10		1	4.15	4.15
P52224	Whiteboard Marker Dry Erase Quartet Flexi	11		10	2.00	20.00
	(Black only)					
	VOLUNTARY CONTRIBUTIONS					
F66640	Falcon PS Voluntary Contribution Per Child - Pre Primary	12		1	60.00	60.00
	Voluntary School Contributions can be paid through the supplier or deposit School: BSB 016 205 / Account Number 408 401 369 (Please put stude					n Primary

PARENTS TO SUPPLY

1 x Blue School Cap/Hat

- 1 x Box of Tissues 250s
- 1 x Drink Bottle (Prefer plastic)
- 1 x Headphone Set (Plug in only)
- 1 x Library Bag
- 1 x Liquid Soap Refills 1 x School Backpack

PLEASE DO NOT COVER SCRAP BOOKS AS THESE WILL BE COVERED AT SCHOOL

Number of Boxes ticked:

Postage (Home delivery only)

\$0.00

ESTIMATED AMOUNT DUE (PRICES CORRECT AT 01/11/24)

\$